ST502-C

REV 1 - Stud and back nut size changed and emboss added - JUN 17-2013
REV 2 - Drawings and notes revised & added - NOV 1-2013

Mounting Options Tapered front plate
Embedded into concrete ST502-C
Mounted into wood ST502-W
Nutsert to HSS ST502-N
Stud to Steel ST502-S
Steel .With hex nut ST502-H EMBEDDED INTO ¢$
Machined cap nut ST502-M CONCRETE (STANDARD) &@y/

NOTE:

-Torque bolt onto glass to 12Nm [9lb ft]

-If laminated glass, use silicone washers &
finger tighten back plate plus %; turn.

PENETRATED INTO
WOOD (OPTION)

=/

Hole in glass

min. @22.2 [37%"]
recommend @25.4 [@1']
max. @28.6 [@1%"]

Gasket, NB4-P14

Gasket, NB1-P03 \

Ferrule bushing,
NB4-P05

— 7

ST502-W

ORDERING INFORMATION

(please check)

Embedded into concrete (std)

POST MOUNTED (OPTION)
ST502-S (W/ STEEL)

Penetrated into wood (option)

Post mounted (option) ST502-N (W/ NUTSERT)

ST502-0 (W/ DRILL & TAP)

Cap screw - Flat head - M8x1.0
*Max. 40 mm Ig.

Tapered front plate,
NB1-PO1

Please specify 161 Please specify
min: 12mm thk. | min. embedment
L \/_\
w
<
v <
~N <
N v
g v N
) N v
B v
- T e e g ey e o oy oy
| T =t 1
i 111 ! _ _ | =
(KA {11 | 4&
o w =T
| = == =11
D) g <
ol =
) < v
N
8| v N
N v
v M12x1.75 Stud (By Stella)
Epoxy (BY others)
< Vo<
"
\/\ ~
) 97 penetration
Tl
1 T
il i % !
A | i
| g |
4
:D I
M12 Lag bolt x 120mm g.
supplied by Stella
Back plate, NBla-P02
Set screw - Socket head - M12x1.75
) _ OPTIONAL —--—_
——————— =

ST502-H (W/ HEXNUT)

YN
NZBIN

1)

i Il ﬂ—-

Ll i

I u,,

L

)

Glass thickness mm P ! AN i S
Steel thickness mm M12 Nutsert
APPROVAL (Supplied by Stella)
M12 Hex nut & flat washer
CUSTOMER APPROVAL Guppledtyseto
| Please specify
(PLEASE SIGN) Steel thk.
DATE: DATE
] Hole in glass see above Drawn Drawn date
Quantity: Elmgnsmns mllllmeter unlgss otherwise shown RS JUN 16-13
Material: Grade 316 Stainless steel octite all threads during final assemb ly
- Subject to change [Approved  Approveddate |
Finish: Fine machined S e a
Third Angle Projection JH NOV 1-2013
Scale Rev.
ASSEMBLY DRAWING .
1:2 2 [t] (604) 2315892
@50mm STANDOFF, ST502 DWG N [f] (604) 2315893
ST502 [e] info@stellaglasshardware.com

of that

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written per

pany




